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1 The.length and breadth of a rectangle
are in the ratio 4 : 3. Then what is the
ratio of the area of the triangle formed
by the parts of the diagonals with a
long side to the area of the triangle

formed by the parts of diagonals with
a short side ?

(a) 3:4
(b) 4:3

() 16:9

WI:I

2. Suppose a region is formed by
removing a sector of 20° from a
circular region of radius 30 feet. What
is the area of this new region?

(a) 150m square feet
(b) 550m square feet
(c) 650m square feet

(d)@8507 square feet

3. ABCD is a parallelogram where AC
and BD are the diagonals. If
/BAD = 60°, ZADB =90°, then what

is BD? equal to?

3
(a) gABZ

d) 3 AB’

4. A line through the vertex 4 of a
parallelogram ABCD meets DC in P
and BC produced in Q. If P is the
mid-point of DC, then which of the
following is/are correct ?

1. Area of APDA is equal to that of
APCQ

2. Area of AQAB is equal to twice
that of APCQ

Select the correct answer using the
code given below :

(a) 1 only
(b) 2 only

(c) Both 1 and 2

Mcilhm 1 nor 2

5. How many cubic metre of earth is to
be dug out to dig a well of radius 1-4 m
and depth 5m?

(a) 30-2 cubic metre
(b) 30:4 cubic metre

(¢) 30-6 cubic metre

wl() 8 cubic metre

6. If the diagonals of a rhombus are x and
y, then what is its area ?

Vv

ek
(b)

(c) xy
(d) x2-)?
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Whn is the
~ circum-circles
_ have ?

1
(b) 2
(c) 3
(d) Infinite

that a triangle can

9. If an arc of a circle of radius 6 cm
subtends a central angle measuring
30°, then which one of the following
1S an approximate length of the arc ?

3-14 cm
(b) 2-15 cm
(c) 2-14 cm
(d) 2 cm

10. A ladder 5 m long is placed in a room

so as to reach a point 4-8 m high on
a wall and on turning the ladder over
to the opposite side of the wall without
moving the base, it reaches a point
1-4 m high. What is the breadth of the

room ?

58 m
(b) 6 m
(¢) 62 m
(d 75 m

maximum number of

12. Out of 4 identical balls of radius r,

3 balls are placed on a plane such that
each ball touches the other two balls.
The 4 ball is placed on them such that
this ball touches all the three balls.
What is the distance of centre of 4th
ball from the plane ?

(a) 2@ r unit

V3+242
(b) T 05

r unit

r s
——— unit
© 334

V3+242
&

\/5 r unit

13. A right circular cylinder just encloses

1

a sphere. If p is the surface area of the
sphere and q is the curved surface area

of the cylinder, then which one of the
following is correct ?

P =

) p=2q
(©) 2p =g
(d) 2p = 3¢
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14. ABCD is 4 quadrilateral such that
AD = DC = C4 = 0 units, BC = 12
units and ZABC = 9(° What 1s the

approximate area of the quadrilateral
ABCD ?

()269 sq units

) 300 sq units
(¢) 325 sq units
(d) 349 sq units

Let PORS be the diameter of a circle
of radius 9 cm. The length PO, OR and
RS are equal. Semi-circle is drawn with
QS as diameter (as shown in the given
figure). What is the ratio of the shaded
region to that of the unshaded region ?

)25 121

16. If the annual income of X 1s 20%
more than that of Y, then the income
of Y is less than that of X by p%
What is the value of p?

(a) 10
ylh
(c) ]7-%
(d) 20

17. What is the least perfect square which
is divisible by 3, 4, 5, 6 and 77

(a) 1764
(b) 17640
(44100

(d) 176400

18. In a water tank there are two outlets.
It takes 20 minutes to empty the tank
if both the outlets are opened. If the
first outlet is opened, the tank is
emptied in 30 minutes. What 1s the
time taken to empty the tank by second
outlet ?

(a) 30 minutes
(b) 40 minutes

(c) 50 minutes

Vﬁ” minutes

Y
19. If (x*—-1) is a factor of
é 3 )
ax¥+bx3+ex? +dx+e.

then which one of the following is

)

correct
(@) a+tbtec=d+e
(b) atb+e=c+d
(¢c) b+te+d=a+e

V; b+d

[ 8 I :
20. If { X o J 47, what is the value of
X
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t is the least value of
5 cosec’x + sec’x) ?

(a) 40
<yr%
(c) 26
(d) 24

23. Let 0<8<90° and 1000 =90°. If
a=I12?,cotnB, then which one of

the following is correct ?

«a 1
) a=0
o) o > 1

d 0<a<l

3 1f tan 60 = cot 20, where 0< 69<12t-,

then what is the value of sec40?

26. On a plane area there are two vertical
towers separated by 100 feet apart. The
shorter tower is 40 feet tall. A pole o‘f
length 6 feet stands on the line joining
the base of two towers so that the tip
of the towers and tip of the pole are
also on the same line. If the distance
of the pole from the shorter tower is
75 feet, then what is the height of the
taller tower (approximately) ?

85 feet
(b) 110 feet
(c) 125 feet
(d) 140 feet

27. The angles of elevation of the top of
a tower from two points at distances
p and ¢ from the base and on the same
straight line are 27° and 63° respec-
tively. What is the height of the tower ?
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(d) cosecO- cotf

L . sinf-cosf+1 sinf+1
B R B ein0+cos0-1 cosf
equal to ?
0 i
g) 1
(¢) 2sinf
(d) 2cosf
31

What is the area of the shaded region
in the given figure, if the radius of each
of the circles is 2 cm?

33.

In the given figure, what is the area
of the shaded region ? |

(a) 9(m—+/3) sq units
@3(47:—3«/5) sq units
(c) 3(3m—-4+3) sq units

(d) 9(/3-m) sq units

A
v

In the given figure, if¥=6and -z-=5
x ’

then what is the value of x ?
(a) 458

(b) 30°

(y15°

(d) 10°
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Angles are shown in the given figure.
§ Siiat is value of Z1+£2+3+/24+

5 L6+ L1+ £87

In the given figure PQ is pamllﬁl to
RS, /AEF=95°, /BHS=110°, and
Z/ABC = x°. Then what is the value of

Xt
(ay=ls

5
Q)30
(d):-35

35 o

40°
) D g
& /E c\ s

G

In the given figure 4B is parallel to

CD and AC is parallel to BD. If

ZEAC=40°, /ZFDG=55°, ZHAB=x°, i

then what is the value of x? s
) 80 L1 g
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: _cu'cles ABC AEF and CDF. The dis-

‘tance between A and C is 28 units and
F is the mid-point of AC. What is the
total area of the three semi circles ?

(a) 924 square units
(b) 824 square units

(c) 624 square units

&462 square units

39.

>

D

Consider the following statements with
reference to the given figure : 46

1. The sum of the areas of AAOB
and ABOC is equal to the sum of
the areas of AAOB and AMC:.

2. ZAOD = ZBOC

2 AB+BC+CD+DA>AC-4-

correct ?

(a) 1 and 2 only
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3S. If 551 _ gx-1
value of 1029

(a)
(b)
(c)

(d)

56. Students of
rows
number of stude

In each row, then the 1
dL‘\'lt‘.l.\C\ by 3

1S 1Increased ‘ﬂ\ 4
number of row

1S the number of

(a)

th

600, then what 15 the

1000
100000

1000000

a class are made to sit in
of equal number o
nts 1s increased by 2
wumber of rows
If number of students
t+ 10 each row, then the

} 11
) )y \

) \‘lk’\ ICases vy [1dl

tudents in the clas

i)

1200

f chairs. If

58. The population of two villages is 1525
and 2600 respectively. If the ratio of
male to female population in the first
village is 27 : 34 and the ratio of male
to female population in the second
village is 6 : 7, then what is the ratio
of male to female population of these
two villages taken together ?

33
(a) ]
85
(b) 2
/1
{ ¢
Of
{
59 T
I 1al ¢
10¢ | {l;
16 1 | 1e12nt !
"\ ! € 1 :‘ ‘}5\
h 1Vl [ n [ th irl n i
| .
Lid
1) Le than 4 '

(b) More than 42 feet

4.3 feet

(c)¢More than 4-3
4-4 feet

feet but less than

(d) More than 44 feet but less than
4-5 feet

B — PLKI-T-MTK
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gd) -]32 litre

88. If m and n are positive integers such
that m" = 1331, then what is the value

85. A square and a rectangle have equal of (m-1y""?

areas. If one side of the rectangle is
of length numerically equal to the () 1

square of the length of the side of the
square then the other side of the « 100

e (c): 12}

1 th
(a) ssguu:rr: root of the side of the e

(b) half the side of the square
o

V of unit length

(d) double the side of the square
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(d) 592 +2

: 94. 1f x varies as yz, then y varies ‘n"my 2
91. If log x = 12500 and y = xlogx (hen o |
what is log y equal to ?

(a) xz | >

(a) 42500 %
()
(b) 2-5625
Z
& 1-5625 &;
- (d) 1-2500 L
5 1s divided b - a)(x —
r gh{i:) :i:t[lij” fhen )'“Sgat Oti(s)r tﬁg 95. If the points P and O represent real
remainder ? numbers (-73 and (0-56 on the number
line, then what is the distance between
(@) G (@-G=PB) Sand O
a Y 1
(a)'g
-a)f(B)-(x-B)f()
) (x-a)f - ;
(b) 5

e ) 16

~Bf(B)-(x-)f(@) (d) %



SSBCrack
Draft

SSBCrack
Draft

SSBCrack
Draft

SSBCrack
Draft

SSBCrack
Draft

SSBCrack
Draft




SSBCrack
Draft

SSBCrack
Draft

SSBCrack
Draft

SSBCrack
Draft

SSBCrack
Draft


let’s crack defence exams
www.ssbcrackexams.com

THE MOST POPULAR
DEFENCE EXAM APP
OF ALL TIME

Prepare for defence exams like NDA, CDS, AFCAT,
INET, TA, GROUP X&Y, MNS, ACC and more.

)>8§§Emw

BEST FEATURES

~—— DETAILED LECTURES
o]

em

®-1 PYQAs & TEST SERIES

@@—{o) SMART ANALYTICS

e G Joot
- = /)

CDS Exam OTA 2020 Online Course

Content

COURSES

English CDS OTA Exam

Geography CDS OTA

s SSBCrack

{& support@ssbcrackexams.com

www.ssbcrackexams.com


https://play.google.com/store/apps/details?id=com.ssbcrackexams.learn

